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Ideals for irreducible component#ﬂ)f Xpar
I = (—u'® + 2u™ — 6u'? 4+ 8u'® — 20 — 10u® + 2u” + 8u® — 6u® — dut + 4P + b —2u, B U+ ta+2,

u?® 4 2u® £ 2u— 1)
I = (u? +b, a+u, v —u®+1)

* 2 irreducible components of dim¢ = 0, with total 29 representations.

1The image of knot diagram is generated by the software “Draw programme” developed by An-
drew Bartholomew(http://www.layer8.co.uk/maths/draw/index.htm#Running-draw), where we modi-
fied some parts for our purpose(https://github.com/CATSTAILs/LinksPainter).

2 All coefficients of polynomials are rational numbers. But the coefficients are sometimes approximated
in decimal forms when there is not enough margin.
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I.
It = (—u'%42u+. . +b—2u, u¥+u?2+-.-+a+2, u?*4+2u?+-.-42u—1)

(i) Arc colorings
o ()
=
o=
o
o
o ()
oo
o=

(

U 42+ +2u—3
Gy = \2u® 44yt + - 4 Tu—2

(ii) Obstruction class = —1

(iii) Cusp Shapes = 3u?® + 6u?* — 4u?3 — 20u?? + 15u?! + 67u?® — 6ul® — 133u!® +
9ul” + 243016 4 26015 — 3120 — 14w’ + 380u'? + Su'! — 325u'® + 66u° + 275ud —
98u” — 15418 + 121u® + 79u* — 58u3 — 13u? + 27u + 3



(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
c1,C7 ul +o2uP 2 —1
C2,C3,Cs w4+ —u—1
C4,Cy u? —u® 4. —12u+8
Cg, €8, C10 w66+ + 1du+1




(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
c1, 7 y? — 6y + . — 14y + 1
C2,C3,C5 Y20 — 28y .-+ 9y + 1
¢4, Co y? —21y* ... — 272y + 64
€6, C8, C10 y? 4+ 30y + - — 38y + 1




(vi) Complex Volumes and Cusp Shapes

Solutions to I VvV—1(vol + /—1CS) Cusp shape
uw=0.846572 + 0.4265601
a= 0.369102 + 1.1456607 | 0.25133 —3.555631 | 0.67279 + 7.822271

b= —0.275280 + 0.2655811

uw= 0.846572 — 0.4265601
a= 0.369102 — 1.1456601
b= —0.275280 — 0.2655811

0.25133 + 3.555631

0.67279 — 7.822271

u = —1.05838

a= 10.930276 3.31147 2.10670

b= —0.383659

uw=1.024210 + 0.4836671

a = —0.41844 — 1.771571 6.23030 — 6.318221 4.39684 + 5.980521

b= —0.06027 — 1.683531

1.024210 — 0.4836671
= —0.41844 4+ 1.771571
b= —0.06027 + 1.683531

u =

6.23030 + 6.318221

4.39684 — 5.980521

uw=0.352335 + 0.7840801
a = —1.72547 — 0.096491
b= —-0.633711 — 1.0022001

8.43955 + 1.725751

8.31886 — 0.551861

uw=0.352335 — 0.7840801
a = —1.72547 + 0.096491
b= —-0.633711 + 1.0022001

8.43955 — 1.725751

8.31886 + 0.551861

u = —0.714859 + 0.4686661
a= 190202 —1.713281
b= 0.66236 — 1.669311

2.60764 + 1.824111

3.14672 — 3.411671

u = —0.714859 — 0.4686661
a= 190202+ 1.713281
b= 0.66236 + 1.669311

2.60764 — 1.8241171

3.14672 + 3.411671

uw=0.884681 + 0.7787511
a = —0.886815 — 0.3225751
b= —-0.169423 — 1.2261601

3.71424 — 2.932481

—1.57920 + 3.074321




Solutions to I}

V=1 (vol + y/=1CS)

Cusp shape

0.884681 — 0.7787511
—0.886815 + 0.3225751
—0.169423 4 1.2261601

3.71424 4 2.932481

—1.57920 — 3.074321

—0.782649 + 0.1350621
—0.896199 + 0.5912321
—0.443229 + 0.2586581

—1.320760 4 0.3394131

—6.54496 — 0.641621

—0.782649 — 0.1350621

= —0.896199 — 0.5912321

—0.443229 — 0.2586581

—1.320760 — 0.3394131

—6.54496 4 0.641621

—0.890496 + 0.8767381
0.197188 — 0.3991231
0.018430 — 1.1889401

8.31406 + 0.269261

5.67547 4 0.246921

—0.890496 — 0.8767381
0.197188 + 0.3991231
0.018430 + 1.1889401

8.31406 — 0.269261

5.67547 — 0.246921

—0.851371 4 0.9296451
—1.80201 + 0.276601
—0.91806 + 3.093841

15.7394 — 4.00441

7.52896 4 1.003271

—0.851371 — 0.9296451
—1.80201 — 0.276601
—0.91806 — 3.093841

15.7394 + 4.00441

7.52896 — 1.003271

0.920092 + 0.8729651
2.37362 + 0.945761
0.20685 + 3.871931

10.46160 — 3.231131

6.21855 4 2.442611

0.920092 — 0.8729651
2.37362 — 0.945761
0.20685 — 3.871931

10.46160 + 3.231131

6.21855 — 2.442611

>~ Q@ €| Q@ €|l & €| & &8 Q& 8|l & 8|l & 8|l & 8|l & 8| o g
|

—0.942244 4 0.8551931
1.174670 — 0.3689341
0.172482 — 1.0563201

8.15003 + 6.147531

5.18996 — 5.200171




Solutions to I}

V=1(vol + y/=1CS)

Cusp shape

u = —0.942244 — 0.8551931
a= 1.174670 4 0.3689341
b= 0.172482 + 1.0563201

8.15003 — 6.147531

5.18996 + 5.200171

u = —0.996075 + 0.8586781
a = —1.86455 + 1.566201
b= 0.61540 + 3.282121

15.2731 +10.59131

6.79989 — 5.689191

u = —0.996075 — 0.8586781
a = —1.86455 — 1.566207
b= 10.61540 — 3.282121

15.2731 — 10.59131

6.79989 + 5.689191

u= 0.493543 + 0.4173861
a = —0.243260 — 0.1666571
b= 10.698144 + 0.2668351

1.336670 + 0.1138961

6.51816 4 0.276181

u= 0.493543 — 0.4173861
a = —0.243260 + 0.1666571
b= 10.698144 — 0.2668351

1.336670 — 0.1138961

6.51816 — 0.276181

u = 0.370909
a = —1.28999
b= 0.636266

1.14285

10.2090




IL. 1Y = (u* + b, a + u, u® —u? +1)

(i) Arc colorings
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(ii) Obstruction class =1

(iii) Cusp Shapes = —2u? + Tu + 2



(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing

1 ud —u? +1

2, C3 (u+1)>3

c4,Co u?
cs (u—1)3

C6, C10 ud —u? +2u—1
cr Wt — 1
c8 A+’ +2u+1




(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
c1,C7 v -yt 2y —1
3
C2,C3,C5 (y—1)
Cq,C9 y3
3 2
C6,C8, C10 Yy +3y +2y_1
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(vi) Complex Volumes and Cusp Shapes

Solutions to I3

V=1(vol + y/=1C)

Cusp shape

u = 0.877439 4 0.7448621
a = —0.877439 — 0.7448621
b = —0.215080 — 1.3071401

4.66906 — 2.828121

7.71191 4 2.599751

u = 0.877439 — 0.7448621
a = —0.877439 4 0.7448621
b = —0.215080 + 1.3071401

4.66906 + 2.828121

7.71191 — 2.599751

u = —0.754878
a= 0.754878 0.531480 —4.42380
b= —0.569840
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ITI. u-Polynomials

Crossings u-Polynomials at each crossing

1 (0 — w2+ 1)(u?® + 202 -+ 2u— 1)

C2,C3 (w4 1)) (w0 4+ 4u®® + - —u —1)

¢4, Cg ud(u? —u® 4 —12u + 8)
% (u—1)*)(u? 4+ 4u*® + - —u—1)

€6, C10 (u® —u® 4+ 2u — 1) (u®® + 6u®® + - + 1du + 1)
7 (u +u? — 1) (u® +2u® + - +2u—1)
8 (u® +u? + 2u + 1) (6?0 + 6u®® + - + 14u + 1)
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IV. Riley Polynomials

Crossings Riley Polynomials at each crossing
c1,cr (> =9+ 2y —1)(y*° —65%° +--- — 14y + 1)
Ca, €3, Cs (y =Dy — 28y + -+ 9y + 1)
c4, Co (%0 — 2192 + - — 272y + 64)
C6, Cs, C10 (v° + 3y + 2y — 1)(¥*° +30y* +--- =38y + 1)
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